@ 6 70 ® 7 M @ 8 7N ® 9 7

@D 5 7



2. A SN -3 %6 9 &



@ (

@ (=3) = (+5) — (=11) + (+15) = +16
® (-6) + (+9) = (+5) + (-6) = -8
@ (-11) = (48) + (+7) = (+7) = -17
® (

+10) + (+12) — (+29) — (+18) =

-23



4. e[l gre 48 #dofet,

—_

(+5)-0-(5) =%

ot

e g
c



% a bel dotela= (

Ao, axb o Z2?

_§) +(-2)%,b=(+9)+ (



z

She =2

%ﬂﬂoﬂ%%;‘gcﬂm% <

P Yo!

T

4 3 )
oLt ol o2

1
® =

| ¢



7. oW A ACIA 2x— 12 Wokd 2 AEate] HYHY 5x—3
o] H|gich. A AL Al B2w?

O -x-1 @ -x+1 ® x+1
@ x-1 B x



SFAEY ax+ b ©] B2 hebd 4= 9lek. o] 4 - b

>

O mlo
2
2

4x—{5(2x—3) - 7x} + (—%)

@D 34 @ 40 B 46 @ 52 B 58



9. 300 ol 7FF 77ke 11 9 w45 F5fodgt

YER
c



10. 390 o
n

oWl Ae14:2] A Zo] B/ sHe A4 n-& BE B A17}7

@D 178 ® 270 ® 37 @ 4 7 G 57}



11. o5 5 5 ARAA 278 AA]o1x 227

O 93121 @ 9918 ® 12130
@ 12 9} 35 ® 24 3} 49



12.

7F2 9] Zo]7}F 96cm, A2 2] Ao]7}F 120cm Q1 24

I}, o] el i o] glo] 7Hsr 3 2 AL

L= jLe L S

=031l ghtt, ojuf, YA o] 7F ®io] Hol&?

@D 4cm ® 6cm 3 20cm @ 24 cm

-

[¢}

g mopel v
EREED

B 48 cm

o

—_

<X
=



13. 190,315,134 & oj® 242 Yie

t}. ojdl £ mE Fajola},

ey L7

2¥7F 1,0,8 °1%



14. F A9 a, b o] 2357136 € W, o, b 2] THS T 7P 2

T Ae] Aasg Fofofer,

B
=¥



15.

SE BN

471 160 & o, =

o) A3



16. th=ollAM Aigho] 71 2 42t 7}

3

2pe So] g2 Fotolet.

_8’

-23, 0,

7

R

5’

6

3

e
=%




DO

w| 0o

B3 ——

4
57

5

+—

4



o

HE

T M

o X

% B

T ol

% _

m 1

ol

Gl

‘OI —

g (_\

Y = A

W i

7_L T
0

w9 9

‘I_



19. o= F ZAE AT Aoz Uil 7o &2 & 5 St

@ gl a Yohe B x 7HE AFAL, 50009 WS T o
AXEE = 5000 - (axx) ¥

© 9ol Zol7t aem 1 AHZEE 0] B2 Ao ¢
(a+3)cm

© o] A2 0] A7t a, AL A= Y] =247t 5, 49
242 9] 247t ¢ 1 Al A Q] QST ax5xb

® &7t 5% A AGE ag ol Tl U= AR &

(55%4)
20 " 4) 8

=
-
YR

=%



20. ool 2AE ARG Aoz BhaA] yepd 212 9 Q171

@ 1% O] £2FE yg o So] Yk 2] F o g
© o] zpa] £2t7ta, o] 2Fe] 2247t b, Lo 2
5\:1}7} c Al A A4 = abe
a A2 B4 b B 20% B} = ¥ 9

c)?t_,_

@®arMbEcEERS —E-_UrE]rlH‘l‘:(GOaer+60

B e A




21. 54 °] k50 57t g, 108 ©f 0] 57k b A W a+b O FL27

D 20 ® 30 A 40 @ 50 B 60



22,

a, b 9 HAF47} 36 A 1), ThE B 2 A4S nE 12

@ 162 a,b 2] FoFolrt.
© 1, 2, 362 a,b 9] FoFolth
© a,b9] FFTE 5 1070]tt.

@ a,bo] T BT 729 ofgro|t},

® 6,0 @ &, © ® 0 6
® 6.6, ® 5 6.0,6, e



23. 136 100709 A% oA 302 Ued 27 dil 8 2 e
57h B +50 G2 Fotelel,

B
=¥



24. FFa bollHstda>0, b<0 L, P4 3D A7

@ a-b>0 @ a-b<0 ® a+b>0

@ a+b<0 ® a+b=0



25. e E7 S a2 e B A2H?

[ ]

B

Q44+ x O xx4

© x+x+x+x ® xXxXxXx




1 3 )
= 1 Sx-2
4(8x+ 6)—!—6(2)6

v
o




